








What do we encourage in maths?

Concrete resources

—
:\‘\" k_.(. .
% e




Numhbher honds
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Fluency and treots!

Eg: 70+80 1999+324 8+6 2997 + 3273 6-4.67
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How To Play: E
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YI Rz,a./s,onj.n,g examples

Stars are worth 1. Triangles are
worth 10. Trianglesare worth 2

How many ways can you represent Jamie had some teddy bears. He said if |
20? Will there be mor: e?anS for had anotherequal set of teddy bears|
40? How doyou know? would have 20. Is he right? Explain why.

Using the same information, as
above, can you work out what the

circleisworth?
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YI R.e,a/s,onj.n,g examples

Below is a list of activities Jonathan

did. Can you explain to himwhich he Look at the part-whole model.
shouldspend aday, weekand year Make all the part-whole models
on and why? you can fromthese facts you have
beengiven.
A holiday to Spain .
A tripto the zoo

LearninginYear 1 ! I



Y2 Rzazsnning examples

Put these clocks in order

* Here are some digit cards.

allalls)

Tamsin and Lila each use two of the
cards to make a 2 digit number.

Tamsin says,

| have made the largest number
you can make.

Lila says,

| have made the smallest
number you can make.

What is the difference between their
numbers?



Y3 Rz,a./s,onj.,n,g examples

* Explain the differences in the values
of 4 in the following numbers:

546 894
473

* 543 is made of 5 hundreds, 4 tens
and 3 ones.

It is also made of 54 tens and 3 ones.

It is also made of 543 ones.

Can you show 113 in these ways?
Can you express 627 in the same
way?

* Tom says ‘| can use my 4 times table
to help me work out my 8 times

table’.
Is he correct? Convince me.

»  What pair of numbers could be
written in the boxes?

0O -0 -2

*  True or false?
Put these statements into two piles.

Explain why.

Ix4=0+12
5x8>6x8
28=-4=2x4









Stroteqgy hooklekt
Where can youw find it?

It's on the school wehsite.



